1. 3’ /3=1.732 qu J2=1414 ¢ &

3.

1
Bz T
(1) 0.064
(2) 0.308
(3) 0.318
4) 2.146

() X & T wEd

% 9.30 iy Rt o % @1 Redt et Wb
& N ¥ 8:7 % agurd § Rreman ) afy fra
BT R 10 Wi feoctiam ¥, o gy waR ¥ 9%
B T gia fpemm @ &7

(1) 2 10.30
2) T 10.60
(3) T 10.80

(4) T 11.00

(5) ST & I 9

TH ARY de®, & M, fme 9 @
65 el ¥, % g Tew ¥ 2 "9 10 e w@mr
¥ SEe Ty e iy free §

(1) 200
(2) 500
(3) 600
(4) 700
(5) wox & ¥ aned

If V3 =1.732 and ~/2 =1.414, then

75—175- is equal to
+

(1) 0.064
(2) 0.308
(3) 0.318
(4) 2.146

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,

what is the rate per kg of the second quality
of wheat?

(1) % 10.30
(2) % 10.60
(3) % 10.80
(4) % 11.00

(5) Not attempted

A motorist travelled between two towns,
which are 65 km apart, in 2 hours 10 minutes.
The speed in meters per minute is:

(1) 200
(2) 500
(3) 600
(4) 700

(5) Not attempted

IKSHR / W3 / Page 2
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4.

T 8000 # TRT 5% af¥® THYRE S & X
X fea awl 4 7 9261 ® W@, wEfs s

s e et ¥ 7
1
(1) 35
2 3
2
4=
€), 3

45
(5) ST & [T TN

5-sidr TR B W,

fmfyra &, &t -

(1) 10,010

(2) 10,015

(3) 10,020

(4) 10,080

(5) ST TE I =@

AT B ¥ waen: € 85,000, T 15,000 #M
T AR A BeaT| Tw A ¥ 9, P A @
Rbq oA F T AT FT S ?

(1) 3:4
(2y 3:5
(3) 153
(4) 17:3

(5) sat w# 27 umEy

S 12, 153X 18 9
L
T

LY

L

r'|'

A
)

L
(N
l

IKSHR / W3 / Page 3

|

T% %14 % fry wrsr / SPACE FOR ROUGH WORK

it
10

In how many years will a sum of ¥ 8000
at 5% per annum compound interest,
compounded annually bec?mcs T 92617

|

.
M 3 l
2) 3
[
2
® 43
7‘11
4 5 O
(5) Not attempted i .,’

r
The smallest 5-digit number which is exactly

divisible by 12, 15 and 18 is :
l| )

(1) 10,010 <
@) 10,015 o
(3) 10,020 f]
(4) 10,080 [

(5) Not attempted

L)

ST
A and B started a bus1ness by investing
¥ 85,000 and T 15,000 resp,Qctlvely In what
ratio, out of the following, th’elr profits will
be divided after one year? -

1) 34

(1) -

2) 3:5 =
G

(3) 15:3 LM
()

4) 17:3 N

(5) Not attempted

P.T.O.




7.

IKSHR / W3 / Page 4

R O<r<]l & @ P @ g @ g
e ¥
(D x

-

Q) 42
1
3 -
X

1
Y
X

(5) ST =& I 9Ed

22x33x5%. 22x32x52x7 s

2% %3*x5x 7% x11 @ HCF ¥

(1) 22x3?x5

) 22x3%x5x7x11

3) 24x3*x5°

4) 2*x3% x5 x7x11

(5) SO 7& A awd

a: b va® Ug § W W g gen fad
U ¢ d U B, B

ab —cd
a—>b

(1)

ac + bd
c+a

(2)

ad + bc
c+d

(3)

4 ad — bc

(5) IO T8N AT |TEd

T %7 % fi @ / SPACE FOR ROUGH WORK

If 0 < x <1, then the greatest number among

the following is :
(1 x

(2) 2

1
3) .

1
4 2
x

(5) Not attempted

The HCF of 22x3%x 5%, 23x3%x5%x7
and 24 x3%x5x 72 x11 is

(1) 22x3%2x5

(2) 22 %32 x5xTx11

3) 243 59

@) 24x3% <57 x7x11

(5) Not attempted

The number that must be added to each term
of a : b so as to get the ratio ¢ : d, is :

ab—cd
a-b

(M

ac + bd
c+a

(2)

ad + be
c+d

3)

ad — bc

4)

c—d

(5) Not attempted

P.T.O.




10. 9] waTE gEet A, B, C ol D &1 sham

49.5 ¥| g B ok D & UGA a1 E?
(1) 2499

(2) 2450
(3) 2352
(4) 2550
(5) STt & [ G
X N 1 + 2x _9
Sy o R
(D1
2) 2
(3) 3
4 4
(5) ST =& 31 9=
1
12-A@$ﬁw§w5ﬁﬁﬁmm%
2 .
Gi—qﬁiBB“@IaiTacﬂg'ﬁT‘TlOﬁ?ﬁT(
qehar &1 A 91 B 31 e @Y S99 e @l
o 7 & g & | 7
1
‘7_
(1) 2
4
8_
(2) 5
3
9_
(3) 3
(4) 10
(5) TTC & 21 9OEd
IKSHR / W3 / Page 5

WA

P

10. The average of four consecutive numbers A,

11.

12.

T% @1 % frg @ / SPACE FOR ROUGH WORK

A can complete -

B, C and D is 49.5. What is the product of
B and D?

(1) 2499
(2) 2450
(3) 2352
(4) 2550
(5) Not attempted

x 1 2x _9
x=1 x+1 1-x2
(1
(2) 2
3) 3
4) 4

(5) Not attempted

3 of a work in 5 days and

B can complete 5 of the same work in

10 days. In how many days both A and B
together can complete the work?

1
m 75

4
: () 8§ .

3
A3) 9§

4) 10
(5) Not attempted

P.T.O.




13.

14.

15.

18 {ft o At T T % orw T A, 3 Ay
T A fhe O @ o gHa § 7

{
(1) 36

4) 218
L)
(5) IO & & A
-
20% T 10% % X Hihl 95 & o uae
LERE ™

(1) 30%
) 25% o
3) 28% L'
(4) 27% .;T‘i .
(5) IAX & T T
Lo
=

et iRt Y 3:5 % o & i R )
R sRTEm T 75 %, A ¥

(1) T 120

(2) % 130 LY
—

(3) % 150 \
¢

(4) T 240

(5) ST & T @mEy |

IKSHR / W3 / Page 6

‘&: %

%y

13.

14.

15.

L,_,(S) Not attempted
TH %14 & frg vt / SPACE FOR ROUGH WORK

How many cubes of edge 3 cm can be cut
out of a solid wooden cube of edge 18 cm?

Ll
(1) 36 .

i,
(2) 216 S
(3) 6 ™

(
(4) 218

L)
(5) Not attempted <

L)

5
g.‘

The single discount(qquivalent to two
successive discounts of-20% and 10% is :

(1) 30%

g
() 25% “1'
(3) 28% :z'
@2
(5) Not attempted

(I

=
A certain sum is divi}qd in the ratio 3:5.
If the greater part is ¥°75, then the sum is :

\J

(1) 120 P
) z 130 L
=
3) T 150 O
LY
(4) T 240 -
(SN
(-

P.T.O.



16.

17.

18.

19.

20.

freitag & ¥ @S- IH FHHR B UH 9T
Y7 1Y)

(1) goagems 0

@) g

(3) BHIIE

(4) STy

(5) SO & T AEd

s sreanmﬁﬁmwgaaw‘mmiﬁam%~
(1) srEe Vo)
Q) @ L5
(3) I
(4) sfirex
(S)Wﬂ'ﬁé"ﬂﬂﬁﬂ

\\]

WWW@#WR@W@WW
REIECE LI S
(1) o foe &' ® T&d w7

(2)33fh=|%ar&rrm ¥ Y T IS B
@I

(3) T wel, F o T T o |
(4) 3@ 9T F B | ¥
(5) ST & IA-aAEd

‘HIYeY I TS & Shad e & -

(1) pieea gev —

(2) e gew

(3) =T 3oy

(4) & Jo9

(5) TaT & < EwpEd
&

H o qEH T WG ¥

(1) & -

(2) 73 (';

(3) 7ea '

(4) 7®

(5) SO Fé 1wy

IKSHR /W3 /Page 7

21.

22.

23.

24.

25.

[

1% &1d % fu @ / SPACE FOR ROUGH WORK

adh o gfz @ Broar o g Y 7
(1) g

(2) #qn I

(3) gitwr

(4) @

(5) FaC 78 Z= a=mEd

‘mﬁm"%mmmtf
(1) %= BYeHT w1 S

(2) &g dig|

(3) aifg 7 om0

(4) ST HE B

(5) STX & I A

B + ST’ %ﬁﬁéaﬁwaﬁmm
= 7 - ey
() g )
(2) peremET (D
3) pememaa
(4) ™
(5) TTX & I @
Lem
R ILINEIEN sw.% foe waifus Suge
qRIAE — |
(1) T ThmE 4 awift
(2) 9 sfwre § s
(3) ¥ shET B IF ¥ e
(4) enygfre siem @ weafa
(5) IOX & I e
<t

[’ <

T A A T el Toga e b -
(1) wiea

(2) armTE

(3) vittw ‘

(4) arfiyem

(5) WY & & A

P.T.O.




26.

Ha ¥ few Tow & qwme WeE AN e @Y
T e

(1) &%=

(2) afteTg

(3) HHleH

(4) STy Wy

(5) IO & I G

27. wiis fede fawdl &= wiew fhe 301 % R

28.

29.

30.

FE ez Ao ¥ 7
(1) I=Ee=

(2) geis

(3) §s

(4) s

(5) ITX & I A

TEAY HH-a1 § 7
(1) g

(2) s

(3) ST

(4) Sr=ETHiEH

(5) ST T & AR

T e fEeE (TTeEd) @ e fre ad
& 7

1) 1976

@) 1975

3) 1959

4) 1950 -

(5) G 7& I AEd

Ry el TEE e b (STESTAET) F fRae
HATTS SHIZAT & 7

(1) u=

(2) 9=

3) =

4) &=

(5) wuT F& ¥ G

IKSHR / W3 / Page 8

26.

27.

28.

29.

30.

T% ®Td % Ry @ / SPACE FOR ROUGH WORK

Which State in India was the first one to
introduce Mid day meal scheme?

(1) Kerala

(2) Tamil Nadu

(3) Karnataka

(4) Andhra Pradesh

(5) Not attempted

Famous cricketer Ben Stokes plays
international cricket for which country?
(1) West Indies

(2) New Zealand

(3) England

(4) Australia

(5) Not attempted

Which is the second largest continent after
Asia in terms of area?

(1) Europe

(2) Australia

(3) Africa

(4) Antarctica

'(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1976

(2) 1975

(3) 1959

(4) 1950

(5) Not attempted

How many functional units are there in

Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Five

(2) Seven

(3) Nine

(4) Three

(5) Not attempted

P.T.O.




31.

32.

33.

34.

35.

IKSHR / W3 / Page 9

rfafiag =) gafra ST
E‘ﬁ-l @-"

AT GETE I. 1918

SICEC I CE I 1. 1919

e wot @ wea 1. 1922

. STHEYEN HiRwA V. 1930

TR Ry o et @ g8 IO g

(1) A-I1. B-1. C-1V. D-1II

(2) A-IIIL. B-II. C-L. D-IV

(3) A-Il, B-1V. C-1, D-III

(4) A-IIl. B-1, C-1I. D-IV

(5) STX & 1 @mEd

SOow

o v 5 = 2023 & v § WN-20 @ e
T @ R

(1) =fqor arsdrem

(2) &AT=T

(3) SR

(4) soe

(5) vx =& = aed

Frr=fefaa & 9 fopg o9 @ ‘9@ &1 g8
HET AT & 7

(1) wiETe

(2) ®AEH

(3) Hg@g

(4) ITT 9=

(5) waT «E I AEd

AT STRIad @l a9 s fpar war w9 feRamt
3 fyeifafaa & 4 fpa g™ & ST @ & Y ?
(1) @st

(2) =rd @

(3) =uTTon

(4) TEHIER

(5) TaX & &1 AmEd

T argeE Rea w R &7
(1) sme

(2) W=

(3) &

(4) =

(5)3?1‘(?1?(2'-’(1?1@

31.

32.

33.

34.

Match the following :

List-I List-I1
A. Rowlatt Satyagraha I. 1918
B. Civil disobedience II. 1919
movement
C. Mill workers' strike I11. 1922
D. Non-cooperation V. 1930
movement

Choose the correct answer from options
below :

(1) A-II, B-I, C-1V, D-III

(2) A-lII, B-II, C-1, D-IV

(3) A-II, B-1V, C-1, D-III

(4) A-III, B-I, C-II, D-IV

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237

(1) South Africa

(2) Canada

(3) Bangladesh

(4) Brazil

(5) Not attempted

Which of the following states is known as
'Sandalwood state of India'?

(1) Chhattisgarh

(2) Karnataka

(3) Meghalaya

(4) Uttar Pradesh

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in :
(1) Kheda

(2) Chauri Chaura

(3) Champaran

(4) Ahmedabad

(5) Not attempted

. Our atmosphere is divided into how many

layers?

(1) Eight

(2) Five

(3) Seven

(4) Nine

(5) Not attempted

T% %14 & form v / SPACE FOR ROUGH WORK

P.T.O.




36.

38.

39.

HE-a1 qeft arg avgen T weTer ¥ ?
(1) = fafEa

(2) wrda ufed

(3) BEw '

@) i fafew

(5) Jat & ™ 9w

. T 1950 & @ ¥ TR T Tie e

AT | Y, WIWTE B T HT ) Tw
AT FE A YE g A ?

(1) guEQ. |
(2) T

3) =™

(4) v
(5) I & T e

o ad Hig W gREH T A TETS FEE W
et oy &9

(1) 1906 -7

(2) 1909 N

(3) 1915 '

(4) 1916

(5) TTT 7 & A

e el g ST Qe T s,
2005 (W) ¥ WG @HR F a9 F fea
Al % e A MR & F 7

(1) 120 &&=

(2) 75 R

(3) 100 =

(4) 90 =

(5) ToT TE F A

fap =af 7 a4 2019 & fog W T &1 TR
e ?
(1) wear faftaese @™
(2) s ga

(3) = quA Eofea
(4) Y. drLoA.se. Td
(5) waC wE ¥ A

]

IKSHR / W3 / Page 10

36.

37.

38.

39.

40.

.

7% % % fivu @ / SPACE FOR ROUGH woRk

Which bird does not make its own nest?

(1) Weaver bil‘d‘
(2) Indian robin
(3) Koel

(4) Tailor bird
(5) Not attempted

Civil Rights Movement of 1950's put an end
to social discrimplation. From where did the
movement begin?

(1) US.A. L)

(2) UK. -

(3) FRANCE "

(4) GERMANY

(5) Not attemplte)d

In which year‘d|i)d the Congress and the
Muslim league sign the Lucknow pact?
(1) 1906 -

(2) 1909 ) “]

(3) 1915 e

(4) 1916 *

(5) Not attempted

In Mahatma Gandhi National Rural
Employment Guarantee Act 2005
(MGNREGA), how many days of
employment are guaranteed in a year by
the Indian Government?

(1) 120 Days -
(2) 75 Days '
(3) 100 Days
(4) 90 Days
(5) Not attempted
1,
Who won the '‘Bharat Ratna Award' for year
2019? U
(1) Ustad Bismillah Khan
(2) Pranab Mukﬁerjee
(3) Dr. Bhupén Hazarika
(4) Prof. CN.R. Rao
(5) Not attempted

p.TO.




41. Choose the alternative which best expresses

42,

43.

45.

e given sentence in Passive Voice.
ust we cut this tree?
(1) Must this tree will cut?
(2) Must this tree was cut?
(3) Must this tree be cut?
Must this tree is cut?
(5) Not attempted

Fill in the blank with correct form of verb.
Neither of the two men very strong.
(1) were

(2) was

(3) will be

(4) shall be

(S) Not attempted

Arrange the following parts of the sentence
to make a meaningful sentence.

A. to understand

B. to many people

C. threatening and even impossible
D. grammar appears

(1) CABD

(2) BDCA

(3) DACB

(4) ADBC

(5) Not attempted

. Replace the underlined word/phrase with an

alternative to make a grammatically correct
sentence.

"The ladder will be collapse if you push the
wall with both the hands.

(1) will collapse

(2) will have collapsed

(3) will have been collapsing

(4) No change

(5) Not attempted

Pick out the part of the sentence which
has an error. If there is no error, your answer
is '4'.
The whole block of flats /
A
including two shops were /
B

destroyed in the earthquake.
C

(1) A

2) B

@3) C

(4) No error

(5) Not attempted

IKSHR / W3 / Page 11

46.

47.

48.

49.

50.

Find out the antonym of 'democracy'.
(1) popular

(2) republic

(3) delicacy

(4) monarchy

(5) Not attempted

Find out the synonym of the underlined word
in the following sentence.

Colours, like features, follow changes of
emotions.

(1) moments

(2) movements

(3) sentiments

(4) under-current

(5) Not attempted

Choose the correctly spelt word :
(1) incradulus

(2) incradulous

(3) incredulous

(4) incredulus

(5) Not attempted

Change the following sentence to indirect
speech.

He said, "Nambiar works hard."

(1) He said that Nambiar worked hard.

(2) He said that Nambiar was working hard.
(3) He said that Nambiar had worked hard.

(4) He said that Nambiar had been working
hard.

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour.

(1) in the beginning
(2) at a crucial time
(3) before an hour
(4) at the last minute
(5) Not attempted

T% 14 % fiyu @ / SPACE FOR ROUGH WORK

P.T.O.




S1.

53.

54.

o] AW gesTeha ¥ o
(l)uﬁmwmaﬁ%l
(’)ﬁqﬂmmtl

3) ¥ g & WUs & A ¥
M@'ﬁmaﬁmmiﬁ%l
(5) STR-FE A A

. Preffes & 1 ol 11 @ g @t

I ]
T T AW YT 3
A. qj&L‘ I. a9 s
B. ¥gat 1. %%
C. ™ 1. e ()
D. W&t IV. @

(1) AILBI C-1II, D-IV
(2) A-IL B-L, C-II, D-IV
(3) A-MI, B-L. C-1V, D-II
(4) A-III, B-II. C-1V, D-I

5) ﬁ%%éﬂﬂﬁ%

wwlﬁ@ns‘@a%wllﬁﬁnéﬁ%mu
w b w-11

A. AR .

B. 3™ . i

C. a%d 1. sEsEiD o

D. =™ IV, e

Ter fage g

(1) A-IV, B-III, C-1, D-II
(2) A-T¥ B-IL, C-1II, D-II
(3) A-IV, B-I, C-II, D-1II
(4) A-I-B-1V, C-III, D-II
(5) 3#( "l@f AT AEd

ﬁwﬁﬂﬁaa @ gafed &L

-1 -1l
T F AR, Tt

A. BT L o
B. #ABdID II. G
C. w&i " JL. =@
D. maco IV. 3=

(1) A-I;B-1V, C-111, D-II
(2) A-It-B-111, C-I, D-IV
(39 A-1IL B-11, C-1V, D-I
(4) A-11, B-1, C-1V, D-III
(5) 39T FET & ars.‘&

IKSHR / W3/ Page 12

51,

53.

54.

Pathogens are microbes which :
(1) Spoil food

(2) Cause diseases

(3) Spoil leather goods

(4) Spoil standing crops

(5) Not attempted

. Match the following I and I :

I ‘ II
Name of the Organ of
Organism Respiration
A. Human being [. Trachea
B. Earthwormy II. Lungs
C. Insects 1. Gills
D. Fish IV. Skin
(1) A-IL B-1, C-1II, D-1V

(2) A-1II, B-I, C-II, D-IV
(3) A-1II, B-L, C-IV, DI
(4) A-IIIL, B-II, C-1V, D-I
(5) Not attempted

Match the items in column-I with those in
column-II :

Column-I' Column-II
A. Salivary gland 1. Bile juice
B. Stomach- II. Insulin
C. Liver III. Hydrochloric Acid
D. Pancreas IV. Amylase

Choose the correct option :
(1) A-1V, B-1II; C-1, D-II
(2) A-1V, B-L+C-III, D-1I
(3) A-IV, B-1, C-II, D-III
4) A-I, B-IV, C-III, D-II
(5) Not attempted

Match the foll\()')wing :

I E—
% &Y & foao . 4/ SPACE FOR ROUGH WORK

Column-I Column-II
Name of the Movement
Animal
A. Snake ') . Swim
B. Fish | Il Slither
C. Bird | L. Walk
D. Cow | IV. Fly
() A-L B-IV, -, i1
(2) AL, B-IIL C-1. D-1V
(3) A-IIL, B-IL, C-1V. D-|
@) AL B-L, C_1V. Dol
(5) Not attempteq
pT.0.

St




SS.

58.

59.

60.

TR B B B e e A A e ¥ -
(1), Jard ¥

() gar

(3) weré

4) Fremaw |

(5) Tue & ¥ 4

. Prefefes & @ @ & duem aiea § 7

(1) s &1 arsy § ofads

(2) IQW &1 arHEH

(3) Frumst ww @ S o B
(4) STorETST HT R oraEdT ¥ qiRa
(5) TTX & I A

. S (e Reed A 7

(1) ®==s

(2) Sramyy

3)

(4

(3) =T Hé‘r é‘—n gTEd

E%WWWWWWWWW%?
(1)%11@3%@%&11‘&@&
(2)ﬁﬁﬁﬁaa1=aﬂn'€rﬁ

B)SEHaEAHA

(4) T % X § iR g & 4 aiE |
(5)wa€féﬂrmﬁ

m%wa%aﬁi%ﬁma%a@aﬁaﬁwﬁ
SO SFINTT HT |
(1) st x

(2) &9

(3) &

(4) HrH B

(5) =T =& & =@Ed

mquﬁaﬁmﬂaﬁf&maﬁqﬁaﬁﬂ
T ZaT1 & | YT Z1T WHIST B F § g qfada
F HEAT £

(1) a9 &1 TR

(2) ware1 @1 fapam=

(3) weIeT &N

(4) T &N

(5) saT 7€ &1 AEd
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h
7

I

T 1 % foyu ey / SPACE FOR ROUGH WORK

57.

58.

59.

60.

« The process of loosening and turning of the

soil is called -
(1) tilling

(2) sowing ‘
(3) harvesting
(4) winnowing
(5) Not attempted

. Condensation is the process of —

(1) Conversion of water into its vapour
(2) Evaporatiod of petrol
(3) Separation!'of sand from water by
decantation'-
(4) Conversion‘of water vapour into its liquid
form (-
(5) Not attempted
(

Typhoid is caused by —
(1) Fungi To
(2) Bacteria .
(3) Virus ey

(4) Protozoa |
(5) Not attemf;}ie’d

Large scale storage of grains is done in :
(1) Metallic bins

(2) Silos and granaries

(3) Jute bags LY

(4) Jute bags and metallic bins

(5) Not attempted

Dark coloured'“binects absorb
than the light ‘coloured objects -
(1) more N

(2) less [

(3) equal

(4) very much less

(5) Not attempt‘ed

heat

Mirror changes (gl;ne direction of light that falls
on it. This change of direction of light by a
mirror is called?,

(1) Reversion of light

2) Displacement of light

(3) Scattering of light

(4) Reflection of light

(5) Not attempted

P.T.O.




LY

61.

62.

63.

64.

aﬁwmwmﬁa@@w%m?ﬁm—mw
AT R?

(1) ==

2) ==

(3) afver et

(4) v

(5) TTx & 3T 9Ey

WIS B WH SiE B A Weaw gl
T E?

(1) 25 &

(2) 50 I

(3) 30 g

(4) 40 R
(5) ST =& = =@y

Y &1 YRITHTT Fay 7

(1) g9 & Ssme 3 fee 3@ s gasha
HET

(2) 39 & T 70°C qUHE 9T @ 30
Hebe T T HTT 3N AT 37 MY-—ofY gy
Hh IEHT HSTUT HIAT|

(3) g = IFWr AT fHT I -4 F=
Hh WSO HTA

(4) g & §AHT 70°C AIGHE 9T e
30 debs & T HN X 6T T TS
gaslid &t WeWw &

(5) SOt 7€ I GEd

TS Frafaiad & § feed siaazs @ W
9 N B Wishar & ?

(1) arar

(2) Tty

(3) uegiifras

4) =9
(5) STX & I 9@red

65. Frafafag & @ -1 EErifts T2

(1) |ifsTw HEle
(2) EHEd

(3) TvRR® o
(4 TfeEiE

(5) SO & I @A
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61.

62.

63.

64.

65.

% &1 % fou & / SPACE FOR ROUGH WORK

Which of the following food items gjyes
blue-black colour with iodine ?

(1) Fat

(2) Starch

(3) Minerals

(4) Protein

(5) Not attempted

The minimum distance required by a norma]
human eye to see the objects clearly -

(1) 25 cm

(2) 50 cm

(3) 30 cm

(4) 40 cm

(5) Not attempted

Pasteurisation of milk is :

(1) Boiling of milk and then suddenly
chilling it.

(2) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.

(3) Boiling of milk and then slowly cooling
it and storing.

(4) Heating of milk to about 70°C for about

30 seconds and then suddenly chilling it
and storing.

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Copper

(2) Silver

(3) Aluminium
(4) Gold

(5) Not attempted

Which of the following is an antibiotic?
(1) Sodium carbonate

(2) Alcohol

(3) Sulphuric acid

(4) Erythromycin

(5) Not attempted

P.T.O.




66.

67.

68.

69.
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-1 v gy o7 11 o @@ & forerm
%Ql A
w—n

IM

Q:vfl—ll
A.
B.
C.

\m G

D. Ly NIV g
%ﬁqmﬁmaaaﬁwmwﬁm=
(1) A-L, B-I, Cm D-IV

(2) A1V, B- II\ CI D-11I

(3) A-IL, B-IE.C-1V, D-I

(4) A-II B-I[C-IL, D-IV

(S)Waﬁ?ﬁlm

<
vafar e e das @ Rem § v &
A &g 69L& W w3 eREmn @R T U
IR e fFare?
(1) &t 25 e 3
2) s <erdy W
(3) & W @@
(4)q%aﬁ'a'd'ﬂ
(S)W?@Waﬁ%

L)

ISIEH WY BT GBI HEl & 7
(1) P ol

2 sFmg [

(3) daa

(4) AT

(S)Wﬁﬁa@

mﬁammm%lma‘r
ez &, @nmaﬁam%?

(1) orf7 & |

(2) T AfeE-

(3) ud &=

(4) AT

(5) SuY E ¥ A

|

66.

67.

68.

69.

Match List-I Tourist Centres with List-II their
location, B

List-1 List-II
A. Sky Lark u‘ I.  Hodal
B. Damdama , . Gurgaon
C. Dabchick (| [II. Uchana
D. Karna Laké IV. Panipat

Choose the correct answer from the options
given below : '
(1) A-1, B-II, C4HI, D-IV
(2) A-1V, B-I1,1C31, D-1II
(3) A-II, B-III,‘C-1V, D-I
(4) A-III, B-I, €I, D-IV
(5) Not attempteEi
Ky
For recognizilfg the efforts towards
environment cofiservation and promotion,

Government ofl Haryana has introduced the
award in the name of :

(1) Shri Darshan/Lal Jain
(2) Shri Chaudhary Devi Lal

-(3) Shri Bhajan Lal

(4) Pandit Jasr@j}
(5) Not attempted
LO
Tomb of Ibrahifv Lodi is located at :
(1) Bhiwani (7
(2) Panipat (]
(3) Kaithal [
(4) Jhajjar
(5) Not attempted
Ly
Fatehabad, is ﬁ?me to two very important
monuments. One is The Lat; which is the
other one? L)
(1) Arjuna Sthal’
(2) Humayun ) $sque
3) Dharamkshetra
(4) Banawali
(5) Not attempted

T &1 % fiTw za / SPACE FOR ROUGH WORK

P.T.O.




70.

71.

72.

74.

frefifad & ¥ @ SO & TE B IR
Jrqur A& T?

(1) |t

(2) ®BEd

(3) AT

(4) Qrgen

(5) FTX & I A

=R &1 T EE T B0
(1) a1

(2) wfean

(3) gfera

(4) ®Hd
(5) ST & FA1 @mwEd

frferfaa weei ot faem #ifao

A. wfcamm & 8 gemEtie gEr ¥ |

B. dager shamn & gemEtie wEe § §
T

Iude HuA (7)) F @ &9 qe E

(1) A &has

(2) B &g

(3) A 3T B =i

@G a@dMAsTTIEB

(5) ST FE A1 A

. qd A fedet drts wEam & fmde sEEel

HEl Rug &7

(1) wlemEr

(2) gEHen

(3) wowX

(4) TEUH

(5) IAT & I A=A

T UG Hel Rug &7
(1) fawEn

(2) waEER

) FEE=

(4). fEER

(5) ST & I 9@Ed
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70.

71.

72.

73.

74.

Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Safa

(2) Kamri

(3) Dohar

(4) Sopali

(5) Not attempted

Which is the state flower of Haryana?
(1) Marigold

(2) Dahlia

(3) Tulip

(4) Lotus

(5) Not attempted

Consider the following statements :

A. There are 8 Administrative Divisions in
Haryana.

B. Panchkula is one of the Administrative
Divisions of Haryana.

Which of the above statements is/are correct?

(1) A only

(2) B only

(3) Both Aand B

(4) Neither A nor B

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?
(1) Faridabad

(2) Panchkula

(3) Jhajjar

(4) Gurugram

(5) Not attempted

Where is Brahma Sarovar located?
(1) Sirsa

(2) Fatehabad

(3) Kurukshetra

(4) Hissar

(5) Not attempted

T% B4 % fag T / SPACE FOR ROUGH WORK

P.T.O.




75.

76.

77.

78.

79.

80.
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T Tl B P & @ P G
T W ¥

(1) Rrarh

(2) Tt=Te

(3) st

(4) feamx

(5) Sux & I =

SR T & e (ere) angae T
TS 7

(1) 80-90

(2) 90110

(3) 110-130

(4) 130-140

(5) IO &l <A1 9@ed

eRamm ¥ wraer yoreh % ot et e
WL E?

(1) 521 ==&y

(2¥y 472 ==y

(3) 528 =&Y

(4) 452 -is¢

(5) T & AT @Ed

gfes Rearel drigex aq fee @@ @ d@99 87
(1) gﬁﬁﬁﬁ

(2) Framaash

(3) F=h

(€2) HTeAT Heh

(5) waT & T =@Ed

ﬁv—vﬁﬁmﬁmﬁzﬁwwnmmﬁa
e

(1) 5=

(2) <fégor

3) @

(4) dfyed

(5)w=ré‘fé=narsﬁ

fretffaa & & B ERAN & YoH geresh 47
(1) sATCE | I

(2)-ssh &

(3) wraa a9

(4) T R fE

(5) SaT & I Awd

75.

76.

77.

78.

79.

80.

T T % iy e / SPACE FOR ROUGH WORK

Charkhi Dadri does not share border with
which one of the following?

(1) Bhiwani

(2) Mahendragarh

(3) Jhajjar

(4) Hisar

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State
have?

(1) 80-90

(2) 90-110

(3) 110-130

(4) 130140

(5) Not attempted

How many total number of canals are there
under 'The Bhakra System' in Haryana?
(1) 521 Canals

(2) 472 Canals

(3) 528 Canals

(4) 452 Canals

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt is
associated with which sport?

(1) Boxing

(2) Shooting

(3) Wrestling

(4) Javeline Throw

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) North

(2) South

(3) East

(4) West

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Banarsi Das Gupta

(2) Bansi Lal

(3) Bhagwat Dayal Sharma

(4) Rao Birender Singh

(5) Not attempted

P.T.O.



81.

82.

83.

84.

8S.

TR e M (T uE M) F WY ¥ Prsffae

FHY 9T frar St

A. g% T FNY g e w@ ¥

B. 3¢ W@ §t&N & T WA ¥ vyt
Frasomd= ¥

SIYF A F AN WA FU wE YR

(1) Faa A |

(2) 3@ B |

(3) A X B3t

@D ITAMTIEB

(5) It F& I TS

T9 I W A W o= H ook ¥ 7
(1) sferar
(2) smEw :
(3) dha ‘
4) wEw }f"
(5) ST & I =@y

4)dr AdTEB
(5) ST & AT TR

qrarTe &1 WEH feer sfamn $ few e &
e ¥ 7
(1) faan '
(2) feaT '
(3) A==t
(4y we=TTe
(5) Ta¢ & AT "Ey
|

wfamm & st % Y F Ry W o & 7
(1) g=Et 2

(2) HrEe '

(3) B

4) @&

(5) 39T 7# =1 =TEd
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81.

85.

T &1 % firg @ / SPACE FOR ROUGH wopyk

82.

83.

84.

‘onsider the following statements in respe,
((;‘(‘)?I:;‘l:d;rational Securit‘y Guards (NSG)p: t
A. It is one Olf, t)hc Central Armed Police
Forces. . o .

B. It comes under the administrative contro
of the Ministry of Defence, Governmen;
of India. ') .

Which of the abGve statements is/are correctr

(1 A on}y )

2) B only "

ES; Both A anc{ B

(4) Neither A nor B

(5) Not attemp:g’cﬂi

In the dance fbﬂn 'Loor', the word Logr
means? U;J
(1) Girl -

(2) Ornament  (\]
(3) Music [~
(4) Crop

(5) Not attempted

Consider the fqli__z)wing statements :

A. Hindi is the'official language of
Haryana.

B. Punjabi has’been accorded the status of
an official tanguage of Haryana in the
year 2010. .

Which of the above statements is/are correct?

(1) A only

(2) B only .

(3) Both A and’ P

(4) Neither A ndr B

(5) Not attemped

L

The ancient Fort-of Madhogarh is located in
which district of.Haryana?
(1) Sirsa [

(2) Hisar

(3) Jhajjar

(4) Mahendra

(5) Not attemptgrd

Which g

Haryana"9

(1) Thanesar —

(2) Koslj \

A3) Chhachhrayp
ewarj

(5) Not attempted

R
P.T.O.

known as the "Cherrapunji of
L




86.

87.

88.

89.

90.
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BRAT B gt v T R €7
(1) 1,50,00,000 — 2.00.00.000

(2) 2,00,00,000 — 3.00,00.000

(3) 3,00,00,000 — 3.20:00.000

(4) 3,20,00,000 — 3.50.00,000

(5) SuT & ¥ A L

mﬁmﬁwmﬁma‘* ge @
T fr? [~

(1) 8 amw, 2015
(2) 8 3w, 2018
(3) 25 w=dY, 2017
(4) 10 5, 2011
(5) ST & I oAwd |

e

\ g‘

THA T " IAE &) F AR A

Frafafaa st ?ﬁgﬁq

A FEMH N @I FRer i@ @
¥ i ¥

B. sfamm & s we S frames S @
q otfte ¥ N

Ewgﬁﬁ%aﬁwm/ﬁmmﬁﬁ%/%?

(1) &aa A L)
(2) #a@ B O
(3) A 3T B g=f N

4) FAIATTAB
(5) IO & T AEd

[~

Fr=feag ®aAl WX e & -

A. ER@men ® Ui gieesHgaed $
B. wigER A g sngaed Raa 7
mﬁﬁﬁﬂmﬁmﬂiﬁ%?
(1) A &a«

(2) B e« N

(3) A 3T B 2 ™

@@ AITAB
(5)\-siqz=1a%=nars-éh~

S &g g A, Eﬁvwnmmﬁua%?
(1) feamrt

(2) |Fga

(3) HE™

(4) poE
(5) STX E ¥ AT

86.

87.

88.

89.

90.

What is the approximately population of
Haryana?

(1) 1.50,00,000 ~ 2,00.00.,000

(2) 2,00,00,000 — 3,00,00,000

(3) 3.00,00,000 — 3 20600 000

(4) 3,20,00,000 - 3,50 00,000

(5) Not attempted

In which year was the Pradhan Mantri Mudra

Yojana launched in Haryana?

(1) 8 April, 2015 |/,

(2) 8 April, 2018

(3) 25% February, 2017,

(4) 10th March, 2011 L‘

(5) Not attempted =

Consider the followmg statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana'is’ more than that of
Uttarakhand. =

Which of the above statements is/are correct?

(1) A only L)

(2) B only -

(3) Both A and B 0\

(4) Neither Anor B [~

(5) Not attempted

Consider the following statements :

A. There are five Poh\c?. Commissionerates
in Haryana.

B. Faridabad has a Poli 1ce Commissionerate
located there. -

Which of the above statements is/are correct?

(1) A only N

(2) B only L=

(3) Both A and B

(4) Neither A nor B L)

(5) Not attempted =Y

Where is IIT, Haryana located"

(1) Hissar ,
(2) Sonipat J
(3) Karnal I
(4) Kurukshetra

(5) Not attempted

6 & % f7w weger / SPACE FOR ROUGH WORK

P.T.O.



91.%“&51@3%\1;

92.

93.

(1) ™

(2) ftew

(3) Rrendey

(4) freiam

(5) ST & I awd

T U w@ o S B S w=h % a
AT N TN &1 g@ ey Rew F e

(1) Ry

Q)

(3) ufy=m

(4) STT-ufyem

(5) ST TE & A

e SIS STEl % TYE B sTeyaRyd ®H ¥ faar
T ¥ | Hedrst & 39 TASH & 99 H¢ R
T
TOARHU
1 23456
(1) 4,2,1,6,3,5
(2) 3,6, 1, 4,5, 2
(3)3,6,1,5,2,4
(4) 2,4,5,1, 3, 6

(5) FaY AE A1 9TEd

9'.

92.

93.
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1% % & foT I / SPACE FOR Rougy —

Choose the odd one out :
(1) Gram

(2) Quintal

(3) Kilometer

(4) Kilogram

(5) Not attempted

Early in the morning after Sunrise, Sunny
was standing facing a pole. The shadow of
the pole fell exactly to Sunny's right. Which

direction was he facing?
(1) South-

(2) East

(3) West

(4) North-West

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

TOARHU
1234556
() 4,2, 1,6, 3.5
@) 3,6, 1, 4, 5.2
(3) 3, 6, 1.5.2 4
@ 245156

(S) NO[ unempted

P.T.O.



94.

95.

96.

3 e ol 5% T & Prepd 13T 11 fim g
¥ R o FURl B FE A §U 9 A
e qet @ fre & a7 v B, P
fr @ @/ Proard R g weel & STHT T
T w9 ¥ P ¥/fwed ¥

sy ;& AREl v ¥
Tf He@rR vdd
freed: () o whREl TeEr ¥
(1) B wda wRar ¥l
(1) %aw frepd 1 Frepean 31
(2) Faw fread 11 feperar 2
(3) frswd 1 ol 11 < forpe 1
(4) = @ Frepd 1 o =1 & 1 frpean 81
(5) SO & I ==

I R & 99q FHfg, s Gl 98§ SE
TR dstua ¥, e yer @ w©, " | d
geftrg # ¢
Haq : fagsr ;  wEsT o ?

(1) e

2y @i

(3) @reT

(4) @

(5) TAT A& AT AEd

afy s gz wT ® 'VIETNAM' &1 %2
'WKFVOCN' %, @ I8 %2 w7 § 'BRITAIN'
% fre g T s ?

(1) CTIWBKO

(2) CTIWCIP
(3)CTIVBKO

(4) CTIUCIP

(5) SuT & & ared
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1—\

9%4.

96.

-

Two statements are given, followed by two
conclusions I and I1. Assuming the statements
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.
All oceans are mountains.
Conclusions : (I) Some rivers are oceans.

(Il) Some mountains are
rivers.

(1) Only conclusion 1 follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II' follow.
(4) Neither conclusion I nor II follows.

(5) Not attempted

. Choose the option which is related to the

third term in the same way as the second
term is related to the first :
Pen : Write : : Spade : ?
(1) Crush
(2) Dig
(3) Cut
(4) Guard
(5) Not attempted

If in a code language 'VIETNAM' is coded
as 'WKFVOCN!', then how will 'BRITAIN'
be written in the same code?

(1) CTJWBKO
(2) CTIWCIP
(3) CTJVBKO
4) CTIUCIP

(5) Not attempted

T% & % faqu wy / SPACE FOR ROUGH WORK

.p ) '\}\07{\’
K‘ M‘JO q&&l\)
C\b\Co\Q l' SR

P.T.O.

cTIvBKko
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97. g A+ B @ ot ¥, 'A, B &1 Wi &)

98.

99.

A - B ok ¥ 'A, B @ ufy &y
A x B &1 oref &, ‘A.B?{fﬁmtr'
AP xQ+R-Sa& awh¥:

()P S¥Hagrd Lo
DQsHaE
(3) S.P & U & [
@DPSHERaE

(5) S w& [ Ay t;j

|

Rl o & e ot <hem Rt e e, < e
& ST HEN b1 S & an?

(1) 7eaR N
(2) gFar [~
(3) sfEmR

(4y T
(5) S e

i)
A T gEar ¥ g H@Tfﬁ) T I
143, 149, 158, 170, —, , 203
(1y 182 N
(2) 185 [
(3) 190
4) 192 )
(5) SaT & I 9w Z*r:

100.5% =t X, Y, Z, M, N3t O ST &1 iR §'

B UH IR § ¥ ¥, e srmavaem T ¥ e
o B A ®1Z, X NN % d e ¥
M R T T BY, N ¥ S e d
'0' T R WX TE LM F TS B ¥?
(1) X s N T

) Z Y .

(3) O 3T X

(4) O @t N |

(5) I TE T A

L 4‘ J

97.

98.

99.

If A + B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means, 'A is the fatl?er of B'.
TheanQ-FR—Sme_@I‘aS:
(1) P is the father-in-law_of S
(2) Q is the husband of S )
(3) S is the wife of P f"l
(4) P is the father of S
(5) Not attempted
L)
The fourth day of Mareh' in a year was
Thursday, what was the last day of the next
month in that year? L
(1) Thursday -
(2) Friday N
(3) Saturday
(4) Sunday
(5) Not attempted L)
:‘:]'I
Find the missing number-in the series :
143, 149, 158, 170, 7). 203
(1) 182 -
(2) 185 N
(3) 190 '
4) 192
(5) Not attempted '

Sl

100. Six persohs X,Y,Z, M, N-and O are sitting

IKSHR / W3/ Page 22

in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between X' and 'N'. 'M' i§x\|10t at the end. 'Y’
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are themeighbours of M?
(1) X and N

(2) Z and Y
(3) O and X
(4) O and N =
(5) Not attempted ("

LE)

L)

I

T % % firg e/ SPACE FOR ROUGH WORK

P.T.O.
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